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« (C) M3CBA2

Find the name of the country which is not part of
the group.

(A) Bangladesh (B) France

(C) Pakistan (D) Nepal

IfE,C,L L, O &P are coded as 2,A,B,C,3&
M respectively the POLICE will be coded

(A) M3BCA2 (B) 2BACEM

(D) C3M2AB

IfEFGH are coded as 15,1821 & 24 respectively,
the M and O will be coded as

(A) 38,46 (B) 35,44

(C) 28,32 (D) 39,45

Find the dissimilar word from the following :

(A) Postman (B) Nurse

(C) Fireman (D) Thief

Find the dissimilar word from the following :

(A) CCCD (B) DDCC

(C) DDCC (D) CCDD

Write the next number in a serics given below ?
09,77, 55, 33,

(A) 51 (B) 44
(C) 1 (D) 15
Find the number which is not part of the group
(A) 49 (B) 99
(B) 18-%' (D) 64

If a shop keepers sells a fridge for 18,000/- and
gets a profit of 20% then what was its cost price ?
(A) Rs.15,000/- (B) Rs.14,000/-

(C) Rs.12,000/- (D) Rs.10,000/-

Ram secures 50% and Shyam secures 30% of
the total marks in an examination. If the difference
beween the marks secured by both of them is 40,
what is the toal marks ?

(A) 100 (B) 500

(©) 300 (D) 200

How many sides are there in an octagon ?
(A) 4 (B) 2

©) 8 (D) 6
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A student was asked to divide a number with 7,
but the multiplied the number with 7. If the result
he got was 7, the actual answer should have been

(A) 7 (B) 177

C) 19 (D) 1

The average weight of people in boat carrying 7
persons, is 30 Kgs. If another person weighing 46
Kgs joins them, then what will be there average
weight ?

(A) 30 Kgs (B) 32 Kgs

(C) 33Kgs (D) 46 Kgs

Ram started from his house at 08.30 AM and it
took him 2 hrs and 45 minutes to reach the cinema
hall. He watched the movie for 2 hrs 30 minutes.
When did the finish watching the movies ?

(A) 12,00 Noon (B) 11.30AM

(C) 01.45PM (D) 01.45 AM

In a glass the ratio of girls to boys is 4 : 7. If the
calss contains 28 boys how many girls are there ?
(A) 14 (B) 15

(C) 16 (D) None of the above
Name of the poet who wrote our National
Anthem ?

(A) Upendra Bhanj

(B) Bankim Ch. Chatterjee

(C) Swami Vivekananda

(D) Rabindra Tagore

Which of the following is not a Union Territory of
India ?

(A) Goa

(B) Chandigarh

(C) Lakshyadweep

(D) Andaman & Nicobar

What is the minimum age to become eligible to be
a member of Parliament ?

(A) 21 (B) 18

(€) 10 (D) 25
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Who is the President of India ?
(A) Sonia Gandhi
(B) Navin Patanaik 7

—

(A) Entertainment  (B) Entertacnment
(C) Entertanement (D) Entirtacinment
Fill in the blank using suitable word/phrase,

(C) Pranab Mukherjee “ An apple a day, keeps the e e away”.
(D) Dr. Monmohan Singh (A) police (g) docé;)él ‘
19.  Which of the following river is not flowing into (C) teacher (D) R
Bay of Bengal ? 78, Fillin the blank choosing correct preposition from
. the following.
w . kil
té}) ;(fj-r:t:ﬁ: 3 %g; Slm ““ He is working the field”.
B) at
20. What does ATM stand for ? Eé)) g; _ E D)) b
8—3 if,;"?j;?ﬁﬁﬂ:; R 29. &¢ 606a OR 9RINa de0 QIF 64 |
(C) Any time Machine (A) 2i81eia (B) adeI@
(D) Automated Telephone Machine (C) 2AQ (_D) digrela "
21, First Indian Women to win an Olympic Medal in 30. @f 909ee AU 6RQ6 Jode @ ACACIP
’(“;‘)“guaimr;‘l e o0 q6s QIf 6RY |
darmam alieswari
ARG
(B) Anju Bobby George e s (B) 5
(C) Saina Nehwal &C) ‘%@ﬂﬁ e U-?_) R G (2
(D) Sania Mirza 31. QF 999 M Joeer @a A0, ARG QL EmE |
22.  Fillin the balnk using suitable words/phrase given “@Q”
below (A) «@ol (B) 6R@|
“}lr\lari 1]? of all(;e bo}ylrs in the class” (C) @IaY D) @60g1
( fa taller pe - < i
(C)) tallest (D) none of the above 32. Q@ 99 @A ARG QIR emb |
23.  Fill in the blank using suitable words/phrase given Qaler
below ? (A) 2l (B) awia
“Trees grow the bank of the river”. (C) 6RIQ D) 2RI
(A) behind (B) along 33, Qf 90 9abe a0 afead 4t QI8 emd |
4 Efcli'ath blank with i E'lctm:;njunction SR BIER
24. ill in the blank with appropriate j
“I want to know you are attending the (A) @Qdiae (B) @0Q19%
funciton not”. (C) @ede (D) @eae
(A) yet............ and (B) neither .........nor 34, 4uQIR JQd @& FARYe QF gealsq Agd
(C) whether.......... or (D) either............. or oq |
25.  Fill in the blank using correct word/phrase from “Qiel 9a 6060 qal”
the followings. A) 6ad T
(A) had broken (B) broke (C) - (D: o
(C) broken (D) break (,, ) g ( b b7
26.  Choose the word with correct spelling from out 35. OF e A0R IQ@ANMRQE JRC QI emel |
of the following, (A) asal (B) a9
(C) 2% (D) w8
r ANSWER —
R
. 6. (B) 7. (8) 8. (A) 9. (D) 10. (O)
1. (B) 2 (C) 3. (D) 4. (D) 5. (A)
1. (DY 12. (B) 13. (C) 14 (C) 15. (D) 16. (A) 17. (D) 8. (C) 19. (B) 20. (A)
2. (A) 22 (D) 23 (C) 24 (©) 25 (A) 26 (&) 2. (B) B.D) B (A) 30. (C)
3.(D) 32 (D) 33, (A) 34 B) 35 (B )
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